

MANICALAND STATE UNIVERSITY

OF APPLIED SCIENCES

FACULTY OF AGRIBUSINESS AND COMMERCE

DEPARTMENT: ACCOUNTING

MODULE: FINANCIAL ANALYSIS

CODE: AEDT 123

SESSIONAL EXAMINATIONS MARCH 2022

DURATION: 3 HOURS

EXAMINER: DR. P KORERA

INSTRUCTIONS

- 1. This paper contains *five* questions
- 2. Answer all questions.
- 3. Start a new question on a fresh page
- 4. Total marks 100

Additional material(s): Calculator, Future & present value Tables,

QUESTION 1 [20 Marks]

Whilst the financial plans of the business are based on a single objective, it faces a number of constraints that put pressure on the company to address more than one objective simultaneously.

Required

What types of constraints might the company face when assessing its long-term plans? Specifically refer in your answer to:

(5)

(5)

(a) responding to various stakeholder groups; and

(b) the difficulties associated with managing organisations with multiple objectives.

(c)Explain the merits and demerits of establishing an agribusiness as a limitedCompany. (10)

QUESTION 2 [20 Marks]

- a) What effect does increasing compounding frequency have on the:
 - i. future value of a given deposit and (3)
 - ii. Its effective annual rate (EAR)? (3)
- b) I need to save \$370,000 over the next five years to fund my one-year-old daughter's education. If I make equal annual end-of-year deposits into an account that earns 7 percent annual interest, how large must this deposit be? Construct a sinking fund schedule for your plans. (14)

QUESTION 3 [20 Marks]

a. A company is considering two mutually exclusive projects with the following cash flows:

Year	PROJECT X	PROJECT Y
	\$000	\$000
0	(100)	(100)
1	25	37
2	3 0	20
3	15	15
4	20	30
5	35	35

If the company's cost of capital is 10% and the risk free rate is 9% calculate:

- i. The payback period
- ii. NPV
- iii. Profitability Index
- b. Using appropriate examples explain the difference between mutually Exclusive and independent projects.

QUESTION 4 [20 Marks]

Working capital management is important for a company to survive the effects of a tight cash flow situation. You are now required to recommend four liquidity management strategies. Do so, showing how each strategy can work. (20)

QUESTION 5 [20 Marks]

QTL sells jewellery through stores in retail shopping centres throughout the country. Over the last two years it has experienced declining profitability and is wondering if

Page 3 of 8

(15)

(5)

this is related to the sector as whole. It has recently subscribed to an agency that produces average ratios across many businesses. Below are the ratios that have been provided by the agency for QTL's business sector based on a year end of 30 June 2021. QTL sells jewellery through stores in retail shopping centres throughout the country. Over the last two years it has experienced declining profitability and is wondering if this is related to the sector as whole. It has recently subscribed to an agency that produces average ratios across many businesses. Below are the ratios that have been provided by the agency for QTL's business sector based on a year end of 30 June 2021.

	Sector
Return on year-end capital employed (ROCE)	16.8%
Net asset (total assets less current liabilities) turnover	1.4 times
Gross profit margin	35%
Operating profit margin	12%
Current ratio	1.25:1
Average inventory turnover	3 times
Trade payables payment period	64 days
Debt to equity	38%

The financial statements of QTL for the year ended 30 September 2021 are shown below.

Statement of profit or loss	\$000	\$000
Revenue		56,000
Opening inventory	8,300	
Purchases	43,900	
	52,200	
Closing inventory	(10,200)	

			(42,000)
Gross profit			14,000
Operating costs			(9,800)
Finance costs			(800)
Profit before tax			3,400
Income tax expense			(1,000)
Profit for the year			2,400
Statement of financial position			
	\$000	\$000	
Assets			
Non-current assets			
Property and shop fittings		25,60	00
Deferred development expenditur	e	5,000)
Current assets		30,60)0
Inventory	10,200		
Bank	1,000	11,20)()
Total assets		41,80	00
Equity and liabilities			
Equity			
Equity shares of \$1 each		15,00	
Property revaluation surplus		3,000	
Retained earnings		8,600)
		26,60	00
Non-current liabilities			
10% loan notes		8,000)
Current liabilities			
ge 5 of 8			

Trade payables	5,400	
Current tax payable	1,800	
		7,200
Total equity and liabilities		41,800

Note: The deferred development expenditure relates to an investment in a process to manufacture artificial precious gems for future sale by QTL in the retail jewellery market.

Required:

Prepare the ratios for QTL equivalent to those of the sector.	(8)
Assess the financial and operating performance of QTL in comparison to its	
sector averages.	(12)

PRESENT VALUE TABLES

Present value table

Present value of 1.00 unit of currency, that is $(1 + r)^{-n}$ where r = interest rate; n = number of periods until payment or receipt.

Periods	ds Interest rates (r)									
<i>(n)</i>	1%	2%	3%	4%	5%	6%	7%	8%	9%	10%
1	0.990	0.980	0.971	0.962	0.952	0.943	0.935	0.926	0.917	0.909
2	0.980	0.961	0.943	0.925	0.907	0.890	0.873	0.857	0.842	0.826
3	0.971	0.942	0.915	0.889	0.864	0.840	0.816	0.794	0.772	0.751
4	0.961	0.924	0.888	0.855	0.823	0.792	0.763	0.735	0.708	0.683
5	0.951	0.906	0.863	0.822	0.784	0.747	0.713	0.681	0.650	0.621
6	0.942	0.888	0.837	0.790	0.746	0.705	0.666	0.630	0.596	0.564
7	0.933	0.871	0.813	0.760	0.711	0.665	0.623	0.583	0.547	0.513
8	0.923	0.853	0.789	0.731	0.677	0.627	0.582	0.540	0.502	0.467
9	0.914	0.837	0.766	0.703	0.645	0.592	0.544	0.500	0.460	0.424
10	0.905	0.820	0.744	0.676	0.614	0.558	0.508	0.463	0.422	0.386
11	0.896	0.804	0.722	0.650	0.585	0.527	0.475	0.429	0.388	0.350
12	0.887	0.788	0.701	0.625	0.557	0.497	0.444	0.397	0.356	0.319
13	0.879	0.773	0.681	0.601	0.530	0.469	0.415	0.368	0.326	0.290
14	0.870	0.758	0.661	0.577	0.505	0.442	0.388	0.340	0.299	0.263
15	0.861	0.743	0.642	0.555	0.481	0.417	0.362	0.315	0.275	0.239
16	0.853	0.728	0.623	0.534	0.458	0.394	0.339	0.292	0.252	0.218
17	0.844	0.714	0.605	0.513	0.436	0.371	0.317	0.270	0.231	0.198
18	0.836	0.700	0.587	0.494	0.416	0.350	0.296	0.250	0.212	0.180
19	0.828	0.686	0.570	0.475	0.396	0.331	0.277	0.232	0.194	0.164
20	0.820	0.673	0.554	0.456	0.377	0.312	0.258	0.215	0.178	0.149

Periods	Interest rates (r)									
(<i>n</i>)	11%	12%	13%	14%	15%	16%	17%	18%	19%	20%
1	0.901	0.893	0.885	0.877	0.870	0.862	0.855	0.847	0.840	0.833
2	0.812	0.797	0.783	0.769	0.756	0.743	0.731	0.718	0.706	0.694
3	0.731	0.712	0.693	0.675	0.658	0.641	0.624	0.609	0.593	0.579
4	0.659	0.636	0.613	0.592	0.572	0.552	0.534	0.516	0.499	0.482
5	0.593	0.567	0.543	0.519	0.497	0.476	0.456	0.437	0.419	0.402
6	0.535	0.507	0.480	0.456	0.432	0.410	0.390	0.370	0.352	0.335
7	0.482	0.452	0.425	0.400	0.376	0.354	0.333	0.314	0.296	0.279
8	0.434	0.404	0.376	0.351	0.327	0.305	0.285	0.266	0.249	0.233
9	0.391	0.361	0.333	0.308	0.284	0.263	0.243	0.225	0.209	0.194
10	0.352	0.322	0.295	0.270	0.247	0.227	0.208	0.191	0.176	0.162
11	0.317	0.287	0.261	0.237	0.215	0.195	0.178	0.162	0.148	0.135
12	0.286	0.257	0.231	0.208	0.187	0.168	0.152	0.137	0.124	0.112
13	0.258	0.229	0.204	0.182	0.163	0.145	0.130	0.116	0.104	0.093
14	0.232	0.205	0.181	0.160	0.141	0.125	0.111	0.099	0.088	0.078
15	0.209	0.183	0.160	0.140	0.123	0.108	0.095	0.084	0.079	0.065
16	0.188	0.163	0.141	0.123	0.107	0.093	0.081	0.071	0.062	0.054
17	0.170	0.146	0.125	0.108	0.093	0.080	0.069	0.060	0.052	0.045
18	0.153	0.130	0.111	0.095	0.081	0.069	0.059	0.051	0.044	0.038
19	0.138	0.116	0.098	0.083	0.070	0.060	0.051	0.043	0.037	0.031
20	0.124	0.104	0.087	0.073	0.061	0.051	0.043	0.037	0.031	0.026

Cumulative present value of 1.00 unit of currency per annum $1-(1+r)^{-n}$

Receivable or Payable at the end of each year for *n* years $\frac{1}{r}$

Periods	s Interest rates (r)									
(<i>n</i>)	1%	2%	3%	4%	5%	6%	7%	8%	9%	10%
1	0.990	0.980	0.971	0.962	0.952	0.943	0.935	0.926	0.917	0.909
2	1.970	1.942	1.913	1.886	1.859	1.833	1.808	1.783	1.759	1.736
3	2.941	2.884	2.829	2.775	2.723	2.673	2.624	2.577	2.531	2.487
4	3.902	3.808	3.717	3.630	3.546	3.465	3.387	3.312	3.240	3.170
5	4.853	4.713	4.580	4.452	4.329	4.212	4.100	3.993	3.890	3.791
6	5.795	5.601	5.417	5.242	5.076	4.917	4.767	4.623	4.486	4.355
7	6.728	6.472	6.230	6.002	5.786	5.582	5.389	5.206	5.033	4.868
8	7.652	7.325	7.020	6.733	6.463	6.210	5.971	5.747	5.535	5.335
9	8.566	8.162	7.786	7.435	7.108	6.802	6.515	6.247	5.995	5.759
10	9.471	8.983	8.530	8.111	7.722	7.360	7.024	6.710	6.418	6.145
11	10.368	9.787	9.253	8.760	8.306	7.887	7.499	7.139	6.805	6.495
12	11.255	10.575	9.954	9.385	8.863	8.384	7.943	7.536	7.161	6.814
13	12.134	11.348	10.635	9.986	9.394	8.853	8.358	7.904	7.487	7.103
14	13.004	12.106	11.296	10.563	9.899	9.295	8.745	8.244	7.786	7.367
15	13.865	12.849	11.938	11.118	10.380	9.712	9.108	8.559	8.061	7.606
16	14.718	13.578	12.561	11.652	10.838	10.106	9.447	8.851	8.313	7.824
17	15.562	14.292	13.166	12.166	11.274	10.477	9.763	9.122	8.544	8.022
18	16.398	14.992	13.754	12.659	11.690	10.828	10.059	9.372	8.756	8.201
19	17.226	15.679	14.324	13.134	12.085	11.158	10.336	9.604	8.950	8.365
20	18.046	16.351	14.878	13.590	12.462	11.470	10.594	9.818	9.129	8.514

Periods					Interes	t rates (<i>r</i>)				
(<i>n</i>)	11%	12%	13%	14%	15%	16%	17%	18%	19%	20%
1	0.901	0.893	0.885	0.877	0.870	0.862	0.855	0.847	0.840	0.833
2	1.713	1.690	1.668	1.647	1.626	1.605	1.585	1.566	1.547	1.528
3	2.444	2.402	2.361	2.322	2.283	2.246	2.210	2.174	2.140	2.106
4	3.102	3.037	2.974	2.914	2.855	2.798	2.743	2.690	2.639	2.589
5	3.696	3.605	3.517	3.433	3.352	3.274	3.199	3.127	3.058	2.991
6	4.231	4.111	3.998	3.889	3.784	3.685	3.589	3.498	3.410	3.326
7	4.712	4.564	4.423	4.288	4.160	4.039	3.922	3.812	3.706	3.605
8	5.146	4.968	4.799	4.639	4.487	4.344	4.207	4.078	3.954	3.837
9	5.537	5.328	5.132	4.946	4.772	4.607	4.451	4.303	4.163	4.031
10	5.889	5.650	5.426	5.216	5.019	4.833	4.659	4.494	4.339	4.192
11	6.207	5.938	5.687	5.453	5.234	5.029	4.836	4.656	4.486	4.327
12	6.492	6.194	5.918	5.660	5.421	5.197	4.988	4.793	4.611	4.439
13	6.750	6.424	6.122	5.842	5.583	5.342	5.118	4.910	4.715	4.533
14	6.982	6.628	6.302	6.002	5.724	5.468	5.229	5.008	4.802	4.611
15	7.191	6.811	6.462	6.142	5.847	5.575	5.324	5.092	4.876	4.675
16	7.379	6.974	6.604	6.265	5.954	5.668	5.405	5.162	4.938	4.730
17	7.549	7.120	6.729	6.373	6.047	5.749	5.475	5.222	4.990	4.775
18	7.702	7.250	6.840	6.467	6.128	5.818	5.534	5.273	5.033	4.812
19	7.839	7.366	6.938	6.550	6.198	5.877	5.584	5.316	5.070	4.843
20	7.963	7.469	7.025	6.623	6.259	5.929	5.628	5.353	5.101	4.870

END OF EXAMINATION